FgArea: [0 ]
NC11 P3-11
2025-05-23 (Day 51)




1750 -

1500

1250

1000

750

500

250

o— 0

40




VN

1400 ~
1200 ~
1000 ~
800 -
600 -
400 -
200 -

50

40

30

20

10






1750 ~

1500

1250 ~

1000

750 -

500 -

250

o 1 VI vs Du

<1t

‘e

T
500

T T T
1000 1500 2000
DU

T
2500

T
3000

T
3500




¢

30

20

10

—o—
0451 &

0. 60
0.55
0. 50
0. 40
0.35
0.30
0.25



30

20

1 setVI
T
10

+ - o
T T T T T T T T
o o o o o o o o o
[ee] © < N o [ee] © < N
— — — — —



1 (fgArea = NA)

5500

I I
—@— ECI*10%
- —0— ECO

T'

5000

4500

4000

3500

q___.._________-

3000

2500

2000

20

30

40




—&— PHI*10%

754 —®— PHO

7.0 1
6.5 1
6.0
5.9

50

40

30

20

10
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN', ’slISetVI']]

300 ! T i
—8— setVIl_ETcl 1
050 1 —®— setVl_fgRec }‘1 e * A ]
—@— setVI_VN A \ /
200 4 —®— slSetVlI - -_q. » |
il o000 o
ool y . N\ e L
\: B s Zabd i ' 2000000008
e Vo '
50 o= \
/& ¥ M |
0 /o 0<8 2 800" :
' 1
0 10 20 30 40 50 60




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Trend plot forP3-11_0
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07:05 294 150.0 |Z=| 1Ri%e07:05 Bz (KAL)
07:30 294 150.0 |Z=| 1Ri%e07:30 Bzh (RFMERESE)
09:05 294 150.0 BE| 1Ri%e09:05 B (KRFERSE)
09:55 294 150.0 RS {Ri&e09:55 Hzi (REMERE)
10:40 294 150.0 BE| 1Ri%e10:40 B (REERER)
11:25 294 150.0 BS| 1Riget11:25 Bz CGREERESE)
12:10 294 150.0 RE| Ri%e12:10 B (GREEREE)
12:45 294 150.0 | BE| {Rig%@12:45 Bl CGRAMEESE)
13:25 294 150.0 BE| 1Rige13:25 Bzh (GREERESE)
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23T 3234.0 (11.%) 1650. 0 #2333 %EC: 2080.0, PH: 6.0

FEREHEME STEAEARST (191.0 : 153.0), AIEEAT—@E XAHE5
ZRINSEBRIEBE153. 0 ml.

REREMREC (2410.0) 5i%FEEC (2000.0) REK K, BFRE
HEEJRECE (2410.0 vs 3499.0) RS
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0
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0.0

300 4 By lni
200 -

100 A

O_EO’TL'

—— e o e e

T
N
o
o
o

- 1000

@D51 01:45: ET=1720 Fg=2400.0 Ro=622.0 #2000

- 2000

- 1000

FRV (ml d-1)

-------------------------- il snfenfeniiond _siesiesiy el sty oSt s 5 s i s i ————————— i i ————— 25 w

cumET (ml/plant)

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

300 | % | ® | ® | | | % | ® | ® | | m | w | w | ® | m | m | ® [ ® | | m | m | % [ % | M | 3000

200 - e ®

& —e—©
100 - I| I/ ! - 1000

0_:’ 22 1
0 2 3

ByEt @D48 18:36: ET=1565 Fg=1848. 0 Ro=nan

- 2000

cumET (ml/plant)

4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

==}
I

0 B | B | B5 [BF | M | | HR B | M | B | HR [BF | M | B [BZ[(XZ |2 |23z | B |EX[ZX[(FZT 3000 5

1 c
ByWqu @D51 01:45: ET=1256 Fg=1650.0 Ro=445.0 -g

200 - ] - 2000 >
1 e e e e e E
| 4 23— :

100 - : - 1000
) — 3
1 - e

10_:’ . — E— 0

' 0 | 1 | 2] 3] 45 6 78] 9 1011121314 ][15]16]17] 18] 19 ]2 |21 223

ogl B | B | B [8F | [iF | B [Z=| B (BB | B [iB | B |6 |2Z[(ZF|25 (25|25 B | B [ZR|25(25

0.6

0.4

0.2 -

0.0

1500 — | t

K ’W‘ ® VP

[ ] | _obs
—@— PPFD obs

—— RH
(] RH_obs
RHo_obs




m=445, FV0=0 m=530, FV0=0 m=610, FV0=0

—&— ME —&— ME —0— ME —— ME
21.0 ~ 20. 5 - 20. 75 A
20. 0 A
.0+ 20. 25 -
20.0 - 19.5 209
20. 00 A
19.5 4
19. 9 + 19. 75 -
19.0 - 19.01
19. 50 A
18.5 - T T T T T T T T T T T T
600 800 1000 445 450 455 550 555 560 610 615 620
m=660,m FV0=0 m=710,m FV0=0 m=765,m FV0=0 m=825,m FV0=0
21. 25 A
21. 00 21.0 1
20. 75 - 21.00 A
20. 75 A
20,50 20. 75 4 20,5 |
20. 50 A
20. 25 20. 50 A
20. 25 A
20. 00 + 20. 25 A 20.0
20. 00 -
19. 75 20. 00 A
19. 75 H i
T T T T T T 19.75 1 T T T 19:5 T T T
660 665 670 710 715 720 765 770 775 825 830 835
m=940,m FV0=0 m m=445,m FV0=0 m=550,m FV0=0
945 - 25.5 1
] —-@— ME | —@— MW ’ —-@— MW —-@— MW
21.0 26
24.0 - 25.0 A
25
20.5 23.5 24.5
24 230 4 24. 0 A
20.0
23 ~ 29 5 - 23.5 A
19.5 ~ 22 + 22.0 23.0
940 945 950 600 800 1000 445 450 455 550 555 560
m=610,m FV0=0 m=660,m FV0=0 m=710,m FV0=0 m=7695,m FV0=0
26.0
-@— MW 26. 0 A -— MW 26. 0 -0— MW 26. 0 - -@— MW
25.5 A
25.5 A 25.5 A 25 5 -
25.0
25.0 25.0 1 25.0 -
24. 5 A
24. 5 A 24. 5 A 24,5 -
24.0
24. 0 A 24.0 - 24.0 -
23.5 A
T T T 23.5 - T T T 23.5 - T T T T T T
610 615 620 660 665 670 710 715 720 765 770 775



m=825, FV0=0

26.0

25.5

25.0 -

24.5

24.0

23.5 -

—o—

MW

825

T
830

T
835

m=940, FV0=0

26.0

25.5

25.0 A

24.5 A

24.0 -

23.5 A

—0—

M_W

940

T
945

950




hour

:00 -
125 -

145
:45
:40
:20

100

80

- 60

- 40

§_

%

By

%
6\
%
7
e
BN
%y

%

\ R
N N
s,
Q\z\ Q’.Qé'

2
N
L

&

§

%,
&

W ’@(26_.?
%

%

3,



P3-11

BfiE) | FEBIETK (D) | E#=E (EH/) | XK R

07:20 294 150.0 FB| {Ri&@07:20 Bz (FAFERSE)
07:45 294 150.0 FA| 1{Ri%e07:45 Bz (RAHERESE)
08:45 294 150.0 |Z=| 1Ri&e08:45 Bzl (kA{EEEE)
09:40 294 150.0 (2 =| 1Ri%@09:40 Bz (kBERSE)
10:20 294 150.0 (Z=| 1Ri%@10:20 B3 (GkABERSE)
11:05 294 150.0 BE| Rige11:05 Ba) (REAEHSE)
11:45 294 150.0 S| 1BRige11:45 Bh (REERSE)
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